LogFC

-2

Y

05 0.5
3 il -
204 § 0.4
g i
© 0.3 % 0.3
L% s
c 0.2 So02
k) =
€ g
0.1 S 0.1
e o
o

0.0 0.0
i 2 3 4 5 6 7 8 9 10
C Chromosome D
0.5 0.5
- -
go4 § 0.4
g i
© 0.3 % 0.3
§ =
c 0.2 502
k=) =
€ g
0.1 S 0.1
e o
o
0.0 0.0
i 2 3 4 5 6 7 8 9 10
E Chromosome
05 F 0.5
® °
@04 % 0.4
? in
© 0.3 % 0.3
L?E_, s
c 02 So2
o
201 S 01
S n—
o
0.0 0.0
7 8 9 10

i 2 3 4 5 6
Chromosome

H

Ammarnas XY vs XX

2
. g "

o

—
-2 4

*%
-4 -
Autosomes Chr01 Chr02

Ammarnas XY vs XX |

i 2 3 4 5 6 7 8 9 10
Chromosomes

i 2 3 4 5 6 7 8 9 10
Chromosomes

i 2 3 4 5 6 7 8 9 10
Chromosomes

4_

-

Ammarnas XY vs XX

LogFC

Autosomes Chro1

Chr02

Autosomes Chro1

Chr02




